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D–903 

M. A./M. Sc. (Fourth Semester) (Main/ATKT) 

EXAMINATION, May-June, 2020 

GEOGRAPHY 

Paper XVIII (B) 

(Environmental Geography) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- ßi;kZoj.k HkwxksyÞ ‘kCn dk loZizFke iz;ksx dc fd;k x;k \ 

¼v½ 1963 
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¼c½ 1983 

¼l½ 1993 

¼n½ 1973 

When “Environmental Geography” word used at very first 

time ? 

(a) 1963 

(b) 1983 

(c) 1993 

(d) 1973 

2- fLFkj n’kk le; Lora= n’kk dk vFkZ gS % 

¼v½ mRiknu ,oa miHkksx esa larqyu  

¼c½ ra= ds lHkh rRoksa dk larqfyr varlZEcU/k  

¼l½ ra= ds rRoksa dk larqfyr ifjorZu 

¼n½ mi;qZDr lHkh  

Static condition time-independent means : 

(a) Balance in production and consumption  

(b) Balance interrelation in all elements of system  

(c) Balance change of all element of system  

(d) All of the above  

3- ,d {ks= esa og̀r~ ikfjfLFkfrdh ra= tgk¡ fo’ks”k izdkj dh ouLifr ,oa 

oU;tho gksrs gSa] dgykrk gS % 

¼v½ ikfjfLFkfrdh  
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¼c½ ck;kse 

¼l½ tSofofo/krk  

¼n½ tSovkjf{kr {ks= 

A very large ecosystem on a land having distinct type of 

vegetation and wildlife is called : 

(a) Ecology  

(b) Biome  

(c) Biodiversity  

(d) Biosphere Reserve  

4- ,yu pfpZy lsEiqy ¼1910½ }kjk izfrikfnr mikxe dkSu&lk gS \ 

¼v½ mís’;ewyd mikxe 

¼c½ fu’p;oknh mikxe 

¼l½ laHkooknh mikxe 

¼n½ ikfjfLFkfrdh mikxe 

Which is the approach formulated by Allen Churchil Semple 

in 1910 ?  

(a) Teleological Approach  

(b) Deterministic Approach 

(c) Possibilistic Approach 

(d) Ecological Approach 
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5- tSfod i;kZoj.k dh lajpuk eas D;k ‘kkfey ugha gS \ 

¼v½ okuLifrd i;kZoj.k 

¼c½ tUrq i;kZoj.k 

¼l½ tUrq ouLifr ds lewg ,oa laxBu 

¼n½ vkS|ksxhdj.k  

Which is not included in biological environment ? 

(a) Floral environment 

(b) Faunal environment 

(c) Floral faunal groups and organisation  

(d) Industrilisation  

6- VSxk dk vFkZ gS % 

¼v½ i.kZikrh ouLifr  

¼c½ dks.k/kkjh ou 

¼l½ ?kkl Hkwfe  

¼n½ eSuxzkso ou  

Taiga means : 

(a) Deciduous forest  

(b) Coniferous forest 

(c) Grassland  

(d) Mangrov forest 
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7- tyh; ikfjfLFkfrdh ra= ds Åijh Hkkx esa feyrk gS % 

¼v½ usDVu  

¼c½ IySadVu 

¼l½ cSUFkksl 

¼n½ ¼v½ vkSj ¼c½ nksuksa  

The upper part of aquatic ecosystem contains : 

(a) Nekton  

(b) Plankton  

(c) Benthos  

(d) Both (a) and (b) 

8- fuEufyf[kr esa ls dkSu&lh >hy ikfjfLFkfrdh eas QkbVksIySadVu 

cgqrk;r esa gS \ 

¼v½ yksêksjy {ks= 

¼c½ csafFkd {ks= 

¼l½ ysfufufVd {ks= 

¼n½ izksQkm.My {ks= 

Which of the following lake zones has phytoplankton is 

abundance ? 

(a) Lottoral zone  

(b) Benthic zone 

(c) Leminitic zone 

(d) Profoundal zone 
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9- dkSu&lk vijEijkxr ÅtkZ lzksr ugha gS \ 

¼v½ vkf.od ÅtkZ 

¼c½ lkSj ÅtkZ 

¼l½ ok;q ‘kfDr 

¼n½ Tokjh; ‘kfDr 

Which is not non-conventional energy sources ? 

(a) Nuclear energy  

(b) Solar energy  

(c) Wind power 

(d) Tidal power 

10- Nk;k ds uhps fodflr gksus okys ikS/kksa dks ------------------ dgk tkrk gSA  

¼v½ ckyqdksn~fHkn 

¼c½ Nk;kfiz; ikni 

¼l½ izdk’kfiz; ikni 

¼n½ ,dchti=h 

Plant growing under shade are known as : 

(a) Psamphytes  

(b) Sciophytes  

(c) Heliophytes  

(d) Monocots  
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11- rktegy ------------------- iznw”k.k ds }kjk izHkkfor gSA  

¼v½ /ofu iznw”k.k 

¼c½ ok;q iznw”k.k 

¼l½ ty iznw”k.k 

¼n½ mi;qZDr eas ls dksbZ ugha  

The Taj Mahal is being affected by ............. pollution.  

(a) Noise pollution 

(b) Air pollution 

(c) Water pollution 

(d) None of the above  

12- fuEufyf[kr esa ls D;k ,d xzhu gkml xSl gS \ 

¼v½ ukbVªkstu  

¼c½ vkWDlhtu  

¼l½ gkbMªkstu  

¼n½ dkcZu MkbvkWDlkbM 

Which one of the following is a greenhouse gas ? 

(a) Nitrogen  

(b) Oxygen  

(c) Hydrogen  

(d) Carbon dioxide  
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13- ch- vks- Mh- dk vFkZ gS % 

¼v½ ck;ksdsfedy vkWDlhtu fMekUM 

¼c½ ck;ksykWftdy vkWDlhtu fMlkYo 

¼l½ ck;ksykWftdy vkWDlhtu fMekUM 

¼n½ mi;qZDr eas ls dksbZ ugha  

BOD means : 

(a) Biochemical Oxygen Demand  

(b) Biological Oxygen Dissolved  

(c) Biological Oxygen Demand  

(d) None of the above  

14- lh- ,u- th- gS % 

¼v½ iznwf”kr b±/ku 

¼c½ ‘kq) b±/ku 

¼l½ uqdlku igq¡pkus okyk b±/ku 

¼n½ mi;qZDr esa ls dksbZ ugha  

CNG is a : 

(a) Polluted fuel 

(b) Clean fuel 

(c) Harmful fuel 

(d) None of the above 
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15- Hkksiky xSl =klnh esa dkSu&lh xSl mŸkjnk;h Fkh \ 

¼v½ feFkkby vkblkslk;ukbM~  

¼c½ feFkkby vkblkslkbukbM~ 

¼l½ dkcZu eksuksvkWDlkbM  

¼n½ 2SO   

In which gas was responsible for Bhopal gas tragedy ? 

(a) Methyl isocynate   

(b) Methyl isocyanides  

(c) Carbon mono-oxide  

(d) 2SO  

16- i;kZoj.k dk;Z ;kstuk ,DV dks dc dkuwu ds fy, gLrk{kfjr fd;k 

x;k Fkk \ 

¼v½ 1 tuojh] 1970 

¼c½ 2 tuojh] 1970 

¼l½ 1 tuojh] 1971 

¼n½ 1 tuojh] 1972 

When the Environmental Policy Act was signed into law ? 

(a) 1 January, 1970 

(b) 2 January, 1970 

(c) 1 January, 1971 

(d) 1 January, 1972 
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17- dsUnz ‘kklu ds oU;tho lqj{kk ,DV ds rgr fdlh {ks= dks jk”Vªh; 

m|ku ;k vH;kj.; ?kksf”kr djus dh ‘kfDr fdl lsD’ku esa vkrk gS \ 

¼v½ lsD’ku 38 

¼c½ lsD’ku 39 

¼l½ lsD’ku 18 

¼n½ lsD’ku 21 

 

(a) Section 38 

(b) Section 39 

(c) Section 18 

(d) Section 21 

18- fuEufyf[kr esa ls D;k ,d lEiksf”kr fodkl ds izcU/ku eas vkrk  

gS \ 

¼v½ m|ksx 

¼c½ ou 

¼l½ Qly 

¼n½ lalk/ku 

Which one of the following are to be managed for 

sustainable development ?  

(a) Industries  
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(b) Forest  

(c) Crops  

(d) Resources  

19- tc ge ou dks u”V djrs gSa rks ge ------------------- dks u”V dj jgs gksrs gSaA  

¼v½ isM+ 

¼c½ oU;thoksa dh tula[;k  

¼l½ i;kZoj.k  

¼n½ oU;thoksa ds vkokl ,oa Hkkstu 

When we destroy a forest we destroy ............... . 

(a) The tree 

(b) Population of wildlife 

(c) The environment  

(d) Food and shelter of wild animals  

20- og {ks= tgk¡ oU;tho lajf{kr gSa ysfdu vusd vko’;d ekuoh; 

fØ;kdykiksa dh vuqefr gksrh gS] dgykrk gS % 

¼v½ vH;kj.; 

¼c½ jk”Vªh; m|ku 

¼l½ lajf{kr {ks= 

¼n½ oU;tho {ks= 
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The area in which the wildlife protected but many necessary 

human activities are also allowed is called : 

(a) Sanctuary  

(b) National Park  

(c) Protected Zone  

(d) Wildlife Zone  

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A mŸkj flQZ 2 ;k 3 okD;ksa eas nhft,A  

 Attempt all questions. Answer should be only two or 

three sentences.  

1- pØh; fLFkjrk D;k gS \ 

What is Cyclical Stability ? 

2- ikfjfLFkfrdh; lalk/ku D;k gS \ 

What is Ecological Resources ? 

3- lkaLdf̀rd la?kVd D;k gS \ 

What is Cultural Components ? 

4- ikni leqnk; D;k gS \ 

What is Plant Community ? 
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5- vkink fujks/k D;k gS \ 

What is Disaster Prevention ? 

6- iznw”k.k xqEcn dks le>kb,A  

Explain pollution dome.  

7- i;kZoj.k izca/ku D;k gS \ 

What is Environmental Management ? 

8- Hkkjr eas ok;q dh xq.koŸkk dh fuxjkuh dkSu djrk gS \ 

Who is monitoring the air quality in India ?   

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A vf/kdre 75 ‘kCnksa esa mŸkj nhft,A  

 Attempt all questions. Write your answer using 75 words.  

1- i;kZoj.k ra= i;kZoj.k Hkwxksy ds v/;;u ds fy, vk/kkjHkwr 

ikfjfLFkfrdh bdkbZ gSA le>kb,A  

Environmental system in a basic ecological unit for the study 

of Environmental Geography. Explain.  

2- i;kZoj.k fu’p;oknh mikxe D;k gS \ le>kb,A  

What is environmental deterministic approach ? Explain.   
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3- ikfjfLFkfrdh ra= ds la?kVd D;k gSa \ 

What are the components of ecosystem ? 

4- ck;ksekl fijkfeM D;k gS \ 

What is Biomass Pyramid ? 

5- ekuodr̀ vkink,¡ D;k gSa \ 

What are the man-made hazards ? 

6- ty iznw”k.k ds dkjdksa dk mYys[k dhft,A  

Describe the factors of water pollutions.   

7- i;kZoj.k izca/ku ds eq[; mís’;ksa dks Li”V dhft,A  

Clarify the main objectives of Environmental Management.   

8- izkstsDV gkFkh ds mís’; D;k gSa \ 

What are the objectives of Project Elephant ? 

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A vf/kdre 150 ‘kCnksa esa mŸkj nhft,A  

 Attempt all questions. Write your answer using  150 

words.  

1- Hkwxksy eas i;kZoj.kh; v/;;u ds fodkl dk fooj.k nhft,A  

Give an account for the development of environmental 

studies in Geography. 
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vFkok 

(Or) 

i;kZoj.k ds la?kVdksa ds xq.k ,oa ikjLifjd vU;ksU;fJr laca/kksa dh 

O;k[;k dhft,A  

Explain the characteristics and interdependent relationship 

among components of environment.   

2- ikfjfLFkfrdh dh ladYiukvksa dh O;k[;k dhft,A  

Explain the concept of Ecology.  

vFkok 

(Or) 

ßHkwxksy ekuo ikfjfLFkfrdh ds lekuÞ ij fVIi.kh dhft,A  

Comment on “Geography as human ecology.” 

3- izkdf̀rd i;kZoj.k izdksiksa dk fooj.k nhft,A  

Give an account for the natural environmental hazards.  

vFkok 

(Or) 

iznw”k.k ds ikfjfLFkfrdh ij izHkko crkb,A  

Mention the ecological impact of pollution.  

4- i;kZoj.kh; izca/ku eas ßiF̀oh f’k[kj lEesyuÞ ds izHkko dk ewY;kadu 

dhft,A  

Assess the impact of “earth summit” on environmental 

management.  
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vFkok 

(Or) 

fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ gfjr ØkfUr 

¼c½ fpidks vkUnksyu 

¼l½ jk”Vªh; m|ku 

Write short notes on any two of the following : 

(a) Green Revolution 

(b) Chipko Movement  

(c) National Parks   
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